Study Sheet
Name __________________________

Instructions:  Answer the following questions as completely as possible in the space provided.

Define the following:

Arreneus Acid:

Bronsted-Lowry Acid:

Lewis Acid:

Short Answer:

1. Using the Bronsted-Lowry theory write acid base conjugate acid conjugate base in the blanks below the equations.

a. HCl            +               H2O              (                  H3O+       +             Cl-
_________          ___________                   ___________             ____________

b. NH3            +               H2O              (                  NH4+        +           OH-
_________          ____________                 ___________              ____________

2. Name the following ternary and binary acids.

a.  HCl  _________________              b. HNO2  ____________________

c.  H2SO4 _________________
  c.  H2CO3 ____________________

d.  HClO2 _________________
   d.  H3PO4_____________________

3. Write the formula for the following acids

a. Oxolic Acid ____________________

b. Acetic Acid ____________________

c. Hydrofloric acid ________________

d. Chloric Acid ___________________

e. Sulferous acid __________________

f. Bromic acid  ___________________

3. Predict the acid or base nature of the following anhydrides.

a. CaO  _______________________

b. CO2   _______________________

c. Na2O ​​​​​​​​​​​​​​​​​​​_______________________

d. NO    _______________________

e. SO3   _______________________

4. What is the result of putting equal amounts of acids and bases together?

5. A titration of 40 mL of an acid with 110 mL of .010 M NaOH.  Find the concentration of this acid and determine it pH.

6. What is the hydronium ion concentration of a .100 M solution of formic acid (HCOOH)?  Formic acid has an ionization constant of 1.78 x 10-4.  (This is a weak acid)

HCOOH   +   H2O  (   H3O+       +     HCOO-
7. What is a polyprotic acid?

8. Find the pH of the following H3O+ concentrations.

a. 1.00 X 10-4M

b. 1.00 X 10-7 M

c. 6.59 X 10-11 M

d. 7.01 X 10-6 M

e. 9.47 X 10-8 M

f. 6.89 X 10-14 M

9. Find the H3O+ concentration of the following solutions.

a. pH   =  3.0000

b. pH   =  6.607

c. pH   =  2.523

d. pH   =  6.149

e. pH   =  7.662

10. What is the hydroxide ion concentration in a solution with (H3O+) of 6.89 X 10-9 M.

11. What is the hydronium concentration if the pOH is 8.1.

12. What is the hydroxide  ion concentration if the pH is 10.7.

13. Find the (H3O+) Concentration and the pOH of the following solutions.

a. pH =  3

b. pH =  9.35

c. pH =  6.34

14. Complete the following chart.

	
	pH
	[H+]
	pOH
	[OH–]
	Acidic, basic, or neutral?

	(a)
	
	5.4 x 10–4
	
	
	

	(b)
	
	
	
	7.8 x 10-10
	

	(c)
	10.75
	
	
	
	

	(d)
	
	
	5.00
	
	


	Charges of Common Polyatomic Ions *

	1+

ammonium, NH4 +
	2+

Mercury (I), Hg2 2+

	1-

acetate, CH3COO -

bromate, BrO3 -

chlorate, ClO3 -

cyanide, CN -

formate, HCOO -

hydroxide, OH -

hypochlorite, ClO -

nitrate, NO3 -

Perchlorate, ClO4 -

Iodate, IO3 -

Periodate, IO4 -
	2-

carbonate, CO3 2-

chromate, CrO4 2-

hexafluorosilicate, SiF6 2-

molybdate, MoO4 2-

oxalate, C2O4 2-

peroxide, O2 2-

selenate, SeO4 2-

silicate, SiO3 2-

sulfate, SO4 2-

sulfite, SO3 2-

tartrate, C4H4O6 2-
	3-

arsenate, AsO4 3-

phosphate, PO4 3-


